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B | REBRE|HKRE|LENZRE
=& FR E& w5 (min) | Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
H R K AL FWL (m) 0 9.08 0.10 9.2
il EL (m) 1 0.60 0.09 0.7
Tz 7K  H=FWL-EL 1.0{(m) IR 5138 2 0.04 0.07 0.1
HETKE:V 200|(m3) 200m2 X 1m 3 0.00 0.06 0.1
KT 2 (Costa): Qp 9.08|(m3/s)  |Qp=325(H-V)°** 4 0.00 004 00
REBIEE:A 0.0010 |[km2 5 0.00 0.03 0.0
FEKERE:A2 0.0002 |km2 BhETRI9.5% 215 6 0.00 0.01 0.0
r=a/(t"+b) 7 0.00 0.00 0.0
E AR EERAIET LAaRHE 8 0.00 0.00 0.0
PERusRE R n 0.002 9 0.00 0.00 0.0
(&R E R a 1.16 10 0.00 0.00 0.0
[ErEEE = b = 1 0.00 0.00 0.0
DR BN 705 pApan 12| 000] 000 00

LAA 13 0.00 0.00 0.0

REEIEERT to 704 ey 14| 000] 000 00
HYURT 15 0.00 0.00 0.0

T EERA N DETIIRE 297.5|(mm/h) 16 0.00 0.00 0.0
BAKFREE—Y:Q 0.1|(m3/s) [1/3.6+fr-A 17 0.00 0.00 0.0
EETHKREN.2Q 0.12[(m3/s) 18 0.00 0.00 0.0
19 0.00 0.00 0.0

20 0.00 0.00 0.0

F-1 RHBRRIERISFEERC

F-2 HOKEERR

R AE C fiFE(km2) L=
T=ith 70 0.00020 RFHEEF 7200 MR fii 1 P33
JANE:i 290 | 0.00077
KH 100
At 200
it 70
it 0.00097

o R 245

ERCLIPEN f ity fii  #
Teith 1.00 0.0002 AHREH T P33
JANE:i 0.80 0.0008
KH 0.75 | 0.0000
B 0.53 | 0.0000
EHlh 0.85 | 0.0000
&t 0.0010

i ) 0.84

A1

REQHERME  RWRE | AMMERRE ops | POKEIEESR
(%) ry(mm/h) re=f=r,(mm/h) re tc(min) " nr
1 7.0 2975 249.90 0.145 7.72 283.2 14.3
2 71 295.3 248.05 0.145 7.72 283.2 121
3 7.2 293.2 246.29 0.146 777 282.3 10.9
4 73 291.2 24461 0.146 177 282.3 89
5 714 289.2 242.93 0.146 177 282.3 6.9
6 715 287.3 241.33 0.147 7.83 281.3 6.0
7 76 285.4 239.74 0.147 7.83 281.3 41
8 17 283.6 238.22 0.147 7.83 281.3 23
9 78 281.8 236.71 0.148 7.88 280.4 14
10 79 280.0 235.20 0.148 7.88 280.4 -0.4
11 8.0 2783 233.77 0.148 7.88 280.4 -21
=-3 HKRE A EHE
t r In Q
" (min) (mm/h) " (mm/h) (m3/s)
1 7.0 2975 2975 2975 0.1
2 14.0 219.2 4384 1409 0.0
3 21.0 189.9 569.7 1313 0.0
4 28.0 1735 694.0 1243 0.0
5 35.0 162.6 813.0 119.0 0.0
[§ 420 154.6 927.6 1146 0.0
7 490 1485 1039.5 1119 0.0
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